=T (RTTvTF)

R| PLAYER I 08 | MHE G
1| #RE —K faf5ECC 41 40 81
2 =HOIE 47 NCC 41 40 81
3 AN & Faf2ECC 39 42 81
SR =T (RTTvF)
R| PLAYER i 08 | MHE G
1 ) % JEFRCC 37 41 78
2 NS g CC 38 44 82
3| HEHH EHM faf#ECC 41 41 82
4| KH EFE |d@A—7tn| 42 42 84
5| JH[ IEF faf5ECC 42 42 84
TIURY =T (RTF9F)
R| PLAYER I 08 | MHE G
1 g b f#ECC 40 38 78
2| #kWE EX RN Es[ 38 40 78
3| ek BEiE i Cce 41 38 79
4 B EE fECC 40 39 79
5| R K e 43 37 80
=7 (HDCP)
R| PLAYER I 08 | PHE G Hdep N
1 e faf52CC 40 42 82 8 74.0
2| EH B faf#ECC 40 42 82 8 74.0
3| EiE BT i s 41 44 85 8 77.0
IR (HDCP)
R| PLAYER I 08 | MHE G Hdep N
1| S EFEKRES FIFECC 42 46 88 19 69.0
2| KB HH FIFECC 48 42 90 19 71.0
3| g . [dERERA-7RV] 40 45 85 10 75.0
41 B B G NES | 46 42 88 13 75.0
5 mHE R HILCC 44 43 87 11 76.0
2’5 K (HDCP)
R| PLAYER I 08 | MHE G Hdep N
1| B EE frI#ECC 39 42 81 14 67.0
2 X —5B f2ECC 40 42 82 14 68.0
3 EE W lllele 41 39 80 10 70.0
4| wWOH AT B Cc 40 46 86 16 70.0
5| AE e frI#ECC 41 44 85 14 71.0




